

Answers or hints

1. First we put the generating function on compact form.

$$G(x) = (x^3 + x^4 + x^5 + x^6 + x^7)^4 = x^{12}(1 + x + x^2 + x^3 + x^4)^4 = x^{12}\left(\frac{1-x^5}{1-x}\right)^4$$

Then we unzip it. That is, we use binomial theorem and table to expand the expressions.

$$G(x) = x^{12}(1 - 4x^5 + 6x^{10} \dots + x^{20})(1 + \binom{4}{1}x + \binom{5}{2}x^2 + \binom{6}{3}x^3 \dots + \binom{11}{8}x^8 \dots)$$

Now it is time to determine the coefficient in front of x^{20} . It is $\binom{11}{8} - 4\binom{6}{3}$.

2. (a) $2^n = (1 + 1)^n$.
 (b) $\frac{6!}{2! \cdot 2! \cdot 2!} = \binom{6}{2} \binom{4}{2} \binom{2}{2} = 90$.
 (c) $\binom{15}{13} = \binom{15}{2}$. 13 sticks and 2 plus signs.
 (d) $\frac{1}{1-x}$. The geometric series.
 (e) $5 \cdot 4^3 \cdot 3 = 960$.

3. $1 + x^2 + x^3 + \dots = 1 + x^2\left(\frac{1}{1-x}\right) = \frac{1-x+x^2}{1-x}$.

4. First we put the generating function on compact form.

$$G(x) = (x^4 \dots + x^9)(x^5 \dots + x^{10})(x^6 \dots + x^{11}) = x^{15}(1 + x \dots + x^5)^3 = x^{15}\left(\frac{1-x^6}{1-x}\right)^3$$

Then we use table and binomial theorem so we can expand $G(x)$ again.

$$G(x) = x^{15}(1 - 3x^6 + 3x^{12} - x^{18})(1 + \binom{3}{1}x + \binom{4}{2}x^2 \dots + \binom{9}{7}x^7 \dots + \binom{15}{13}x^{13} + \dots)$$

The coefficient in front of x^{28} is $\binom{15}{13} - 3\binom{9}{7} + 3\binom{3}{1}$.

5. Same procedure as in previous problems.

$$G(x) = (x + x^2 + \dots + x^6)^5 = x^5(1 + x + x^2 + x^3 + x^4 + x^5)^5 = x^5\left(\frac{1-x^6}{1-x}\right)^5$$

$$G(x) = x^5(1 - 5x^6 + 10x^{12} - 10x^{18} + 5x^{24} - x^{30})(1 \dots + \binom{7}{3}x^3 \dots + \binom{13}{9}x^9 \dots + \binom{19}{15}x^{15} \dots)$$

The coefficient in front of x^{20} is $\binom{19}{15} - 5\binom{13}{9} + 10\binom{7}{3} = 651$. Sum 20 occurs in $\frac{651}{6^5} \approx 8.4$ percent of the cases.